

Gold Round 2 Gold Round 1 Gold Round 3 Pool A - 1st Place ROYAL **ROYAL** Ct: 2 Ref: 26-24, 25-21 **TAFT** Ct:2 Ref: **ROYAL** CRESCENTA VALLEY 26-24, 25-23 **CRESCENTA VALLEY** Ct: 4 Ref: **SOUTH PASADENA** 24-26, 25-16, 15-13 Ct: 2 Ref: **EL CAMINO REAL EL CAMINO REAL** 25-21, 25-19 Ct: 3 Ref: **EL CAMINO REAL** Champion 25-19, 25-11 **MARSHALL** Ct: 1 Ref: **EL CAMINO REAL** 25-17, 25-12 VILLAGE CHRISTIAN Ct:1 Ref: **VILLAGE CHRISTIAN** 25-23, 25-18 **FLINTRIDGE PREP CRESCENTA VALLEY** Ct:1 Ref: **CRESCENTA VALLEY VILLAGE CHRISTIAN** 25-23, 14-25, 15-13 3rd Place **TAFT SOUTH PASADENA** Ct: 3 Ref: **SOUTH PASADENA** 25-17, 25-17 Ct: 3 Ref: **SOUTH PASADENA MARSHALL** 25-22, 20-25, 15-11 Ct: 4 Ref: **MARSHALL** 5th Place **FLINTRIDGE PREP** 30-28, 25-20 **Tournament MVP TAFT** #11 Tyler Lee OH El Camino Real Ct: 4 Ref: **TAFT** 25-13, 25-17 **FLINTRIDGE PREP All-Tournament Team** #12 Rishi Mistry El Camino Real Lib 7th Place #8 Owen Whang OH El Camino Real #11 Timmy McIntosh ОН Royal #22 Joey Neilsen Lib Royal

#13 Logan Freemon

Luca Ordonez

#6

OH

Crescenta Valley

Village Christian

# SILVER DIVISION

Silver Round 1 Silver Round 2 Silver Round 3 Pool A - 3rd Place LA CANADA Ct: 2 Ref: Royal LA CANADA Pool B - 4th Place BURBANK 25-13, 23-25, 15-11 LA CANADA Ct:2 Ref: Pool C - 4th Place LA CANADA JV 25-20, 25-18 Ct: 4 Ref: South Pasadena **KENNEDY** Pool D - 3rd Place KENNEDY 25-11, 23-25, 15-7

Pool C-3rd Place MARK KEPPEL

 Ct: 3
 Ref: El Camino Real
 MARK KEPPEL

 Pool D - 4th Place
 MONTEBELLO
 25-16, 25-17

 Ct: 1
 Ref:
 MARK KEPPEL

Pool A - 4th Place

VIEWPOINT

Ct: 1 Ref: Flintridge Prep

CHAMINADE

| Pool B- | CHAMINADE | 25-13, 25-17 | | KENNEDY | Ct:1 | Ref: | CHAMINADE | 28-26, 25-21 |

BURBANK

Ct: 3 Ref: LA CANADA JV

LA CANADA JV

23-25, 25-20, 15-10

Ct: 3 Ref: LA CANADA JV

MONTEBELLO

25-23, 25-20

Ct: 4 Ref: MONTEBELLO
VIEWPOINT 25-11, 25-18

BURBANK
Ct: 4 Ref: BURBANK
VIEWPOINT 25-21, 25-23

LA CANADA

14-25, 25-20, 16-14

### POOL A



		Ma	tch	Gan	nes		Points	I
<u>Finish</u>		<u>Won</u>	Lost	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
1st	Royal	3	0	6	1	166	123	1.35
2nd	Village Christian	2	1	4	4	167	159	1.05
3rd	La Canada	1	2	4	4	169	151	1.12
4th	Viewpoint	0	3	1	6	92	161	0.57

			le	Village Christian	<sup>La</sup> C <sub>anada</sub>	Viewpoint
			Roya,	e Mila	) <sub>67</sub>	, j
Royal	vs La Canada	Gm 1	26		28	
		Gm 2	25		22	
Ref:	Village Christian	Gm 3	15		8	
Village Christian	vs Viewpoint	Gm 1		25		18
		Gm 2		21		25
ref:	Royal	Gm 3		15		5
Royal	vs Viewpoint	Gm 1	25			10
		Gm 2	25			13
Ref:	La Canada	Gm 3				
Village Christian	vs La Canada	Gm 1		25	23	
		Gm 2		24	26	
Ref:	Royal	Gm 3		15	12	
La Canada	vs Viewpoint	Gm 1			25	8
		Gm 2			25	13
Ref:	Village Christian	Gm 3				
Royal	vs Village Christian	Gm 1	25	19		
		Gm 2	25	23		
Ref:	Viewpoint	Gm 3				

#### POOL B

(Middle Court)

		Match		Games		Points		
<u>Finish</u>		<u>Won</u>	<u>Lost</u>	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
1st	Flintridge Prep	2	1	5	3	166	150	1.11
2nd	Taft	2	1	4	3	160	131	1.22
3rd	Chaminade	2	1	4	3	132	139	0.95
4th	Burbank	0	3	2	6	132	170	0.78

			Flintridge Prep	Taff	Chaminade	$Burban_{k}$
Flintridge Prep	vs Chaminade	Gm 1	16		25	
		Gm 2	25		12	
Ref:	Taft	Gm 3	13		15	
Taft	vs <b>Burbank</b>	Gm 1		25	<u>,</u>	16
		Gm 2		21		25
ref:	Flintridge Prep	Gm 3		15		7
Flintridge Prep	vs <b>Burbank</b>	Gm 1	19			25
		Gm 2	25			12
Ref:	Chaminade	Gm 3	15			12
Taft	vs Chaminade	Gm 1		25	17	
		Gm 2		25	13	
Ref:	Flintridge Prep	Gm 3				
Chaminade	vs <b>Burbank</b>	Gm 1			25	17
		Gm 2			25	18
Ref:	Taft	Gm 3				
Flintridge Prep	vs <b>Taft</b>	Gm 1	25	23		
		Gm 2	28	26		
Ref:	Burbank	Gm 3				

## POOL C



	Ma	tch	Gar	nes	Points		ı
<u>Finish</u>	<u>Won</u>	<u>Lost</u>	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
2nd CV	2	1	4	3	154	131	1.18
1st El Camino Real	3	0	6	0	150	118	1.27
зrd Mark Keppel	1	2	3	4	139	138	1.01
4th La Canada JV	0	3	0	6	94	150	0.63

			C/	El Camino Real	Mark Keppel	La Canada JV
cv	vs Mark Keppel	Gm 1	20		25	
		Gm 2	25		14	
Ref:	El Camino Real	Gm 3	15		10	
El Camino Real	vs La Canada JV	Gm 1		25		13
		Gm 2		25		21
ref:	CV	Gm 3				
cv	vs La Canada JV	Gm 1	25			19
		Gm 2	25			13
Ref:	Mark Keppel	Gm 3				
El Camino Real	vs Mark Keppel	Gm 1		25	22	
		Gm 2		25	18	
Ref:	CV	Gm 3				
Mark Keppel	vs La Canada JV	Gm 1			25	13
		Gm 2			25	15
Ref:	El Camino Real	Gm 3				
cv	vs El Camino Real	Gm 1	21	25		
		Gm 2	23	25		
Ref:	La Canada JV	Gm 3				

# POOL D (upstairs)

		Ma	tch	Gar	nes	Points		
<u>Finish</u>		<u>Won</u>	<u>Lost</u>	<u>Won</u>	<u>Lost</u>	Pts for	Pts Ag	Pt Diff
2nd	Marshall	2	1	4	2	146	113	1.29
1st	South Pasadena	3	0	6	1	165	131	1.26
3rd	Kennedy	1	2	2	5	117	148	0.79
4th	Montebello	0	3	2	6	136	172	0.79

			Marshall	South Pasadena	Kennedy	Montebello
Marshall	vs <b>Kennedy</b>	Gm 1	25		15	
		Gm 2	25		11	
Ref:	South Pasadena	Gm 3				
South Pasadena	vs Montebello	Gm 1		25		14
		Gm 2		25		27
ref:	Marshall	Gm 3		15		10
Marshall	vs Montebello	Gm 1	25			14
		Gm 2	25			23
Ref:	Kennedy	Gm 3				
South Pasadena	vs <b>Kennedy</b>	Gm 1		25	13	
		Gm 2		25	21	
Ref:	Marshall	Gm 3				
Kennedy	vs Montebello	Gm 1			17	25
		Gm 2			25	14
Ref:	South Pasadena	Gm 3			15	9
Marshall	vs South Pasadena	Gm 1	23	25		
		Gm 2	23	25		
Ref:	Montebello	Gm 3				